



Formulas for Bernoulli Numbers and Polynomials

Ulrich Abel and Horst Alzer

Abstract. We present several formulas involving the classical Bernoulli numbers and polynomials. Among others, we extend an identity for Bernoulli polynomials published by Wu et al. (Fibonacci Quart 42:295-299, 2004).

Mathematics Subject Classification. 11B68.

Keywords. Momiyama's identity, Bernoulli number, Bernoulli polynomial.

1. Introduction and Statement of the Results

In 2001, Momiyama [7] used methods from p -adic analysis to prove the following remarkable identity for the classical Bernoulli numbers B_ν , defined by

$$\frac{z}{e^z - 1} = \sum_{\nu=0}^{\infty} B_\nu \frac{z^\nu}{\nu!}.$$

Proposition 1. *For all nonnegative integers m and n with $m + n > 0$, we have*

$$\begin{aligned} & (-1)^m \sum_{\nu=0}^m (\nu + n + 1) \binom{m+1}{\nu} B_{\nu+n} \\ &= (-1)^{n+1} \sum_{\nu=0}^n (\nu + m + 1) \binom{n+1}{\nu} B_{\nu+m}. \end{aligned} \quad (1.1)$$

From (1.1) with $m = n$ we obtain

$$\sum_{\nu=0}^m (\nu + m + 1) \binom{m+1}{\nu} B_{\nu+m} = 0,$$

which is attributed to von Eттingshausen [8, pp. 284-285]; see also Kaneko [5]. In 2004, Wu et al. [9] used properties of power series to prove an interesting generalization of (1.1) involving the Bernoulli polynomials

$$B_n(z) = \sum_{\nu=0}^n \binom{n}{\nu} B_{n-\nu} z^\nu.$$

Proposition 2. *For all nonnegative integers m and n and complex numbers z , we have*

$$\begin{aligned} & (-1)^m \sum_{\nu=0}^m (\nu + n + 1) \binom{m+1}{\nu} B_{\nu+n}(z) + (-1)^n \sum_{\nu=0}^n (\nu + m + 1) \\ & \times \binom{n+1}{\nu} B_{\nu+m}(-z) \\ & = (-1)^m (m + n + 1)(m + n + 2) z^{m+n}. \end{aligned} \tag{1.2}$$

If $m + n > 0$ and $z = 0$, then (1.2) reduces to (1.1). Chen and Sun [2] applied Zeilberger’s algorithm to prove (1.2). We show that (1.2) can be written in a slightly shorter and more elegant form as follows.

Theorem 1. *Let m and n be nonnegative integers. Then, for $z \in \mathbb{C}$,*

$$\begin{aligned} & (-1)^m \sum_{\nu=0}^{m+1} (\nu + n + 1) \binom{m+1}{\nu} B_{\nu+n}(z) \\ & = (-1)^{n+1} \sum_{\nu=0}^{n+1} (\nu + m + 1) \binom{n+1}{\nu} B_{\nu+m}(-z). \end{aligned} \tag{1.3}$$

We apply some basic properties of Bernoulli polynomials to settle (1.3). In particular, we provide a new proof of (1.2).

The main aim of this paper is to present a new generalization of (1.2). We define

$$S(m, n; k; z) = (-1)^m \sum_{\nu=0}^m (\nu + n + 1) \binom{m+1}{\nu} \binom{\nu+n}{k} B_{\nu+n-k}(z).$$

The following reciprocity formula holds. (As usual, if $p < 0$, then $B_p(z) = 0$.)

Theorem 2. *Let m, n and k be nonnegative integers. Then, for $z \in \mathbb{C}$,*

$$\begin{aligned} S(m, n; k; z) + (-1)^k S(n, m; k; -z) & = (-1)^m (m + n + 1)(m + n + 2) \\ & \times \binom{m+n}{k} z^{m+n-k}. \end{aligned} \tag{1.4}$$

Remark 1. The special case $k = 0$ gives (1.2).

If we set $z = 0$, then (1.4) yields an extension of Momiyama’s identity (1.1).

Corollary 1. *Let m, n, k be nonnegative integers. Then*

$$S^*(m, n; k) = (-1)^{k+1} S^*(n, m; k), \tag{1.5}$$

where

$$S^*(m, n; k) = (-1)^m \sum_{\nu=0}^m (\nu + n + 1) \binom{m+1}{\nu} \binom{\nu+n}{k} B_{\nu+n-k}.$$

An application of Theorem 2 leads to an identity for the alternating sum

$$A(m, n; k) = \sum_{\nu=0}^m (-1)^\nu (\nu + n + 1) \binom{m+1}{\nu} \binom{\nu+n}{k} B_{\nu+n-k}.$$

We obtain the following companion to (1.5).

Corollary 2. *Let k, m, n be nonnegative integers with $k+2 \leq \min(m, n)$. Then*

$$A(m, n; k) = (-1)^{k+1} A(n, m; k). \tag{1.6}$$

A second application of Theorem 2 gives a reciprocity formula for the polynomial

$$P(m, n; k; z) = \sum_{\nu=0}^m \binom{m}{\nu} \binom{\nu+n}{k} z^{\nu+n-k}.$$

Corollary 3. *Let k, m, n be nonnegative integers. Then, for $z \in \mathbb{C}$,*

$$P(m, n; k; z) = (-1)^{m+n+k} P(n, m; k; -z - 1). \tag{1.7}$$

Remark 2. From (1.7) with $z = -1/2$ we get

$$(-1)^m \sum_{\nu=0}^m (-2)^\nu \binom{m+n-\nu}{k} \binom{m}{\nu} = (-1)^{k+n} \sum_{\nu=0}^n (-2)^\nu \binom{m+n-\nu}{k} \binom{n}{\nu}.$$

By using differentiation or integration certain summation formulas involving Bernoulli polynomials lead to interesting new identities. Hereby, the recurrence relation $B'_n(x) = nB_{n-1}(x)$ plays an important role. We show that by applying an integral formula and (1.3) we obtain the following counterpart of

$$(-1)^m \sum_{\nu=0}^m \binom{m}{\nu} B_{\nu+n} = (-1)^n \sum_{\nu=0}^n \binom{n}{\nu} B_{\nu+m} \tag{1.8}$$

which is due to Gessel [3].

Corollary 4. *Let m and n be nonnegative integers. Then*

$$\begin{aligned} & (-1)^n \sum_{\nu=0}^m \binom{m}{\nu} (2^{-\nu-n} - 1) B_{\nu+n} - (-1)^m \sum_{\nu=0}^n \binom{n}{\nu} (2^{-\nu-m} - 1) B_{\nu+m} \\ &= \frac{m-n}{2^{m+n}}. \end{aligned} \tag{1.9}$$

Remark 3. Combining (1.8) and (1.9) gives

$$(-1)^n \sum_{\nu=0}^m \binom{m}{\nu} 2^{m-\nu} B_{\nu+n} - (-1)^m \sum_{\nu=0}^n \binom{n}{\nu} 2^{n-\nu} B_{\nu+m} = m - n.$$

2. Proofs

I. We need the following formulas:

$$B_n(x + y) = \sum_{\nu=0}^n \binom{n}{\nu} B_\nu(x) y^{n-\nu} \quad (n = 0, 1, \dots), \tag{2.1}$$

$$B_n(x + 1) = (-1)^n B_n(-x) = B_n(x) + nx^{n-1} \quad (n = 0, 1, \dots). \tag{2.2}$$

These formulas can be found in Abramowitz and Stegun [1, (23.1.7), (23.1.8), (23.1.9)]. The integral formula

$$\int_0^{1/2} B_n(x) dx = \frac{1 - 2^{n+1}}{(n + 1)2^n} B_{n+1} \quad (n = 0, 1, \dots) \tag{2.3}$$

is given in Moll and Vignat [6]. Applying (2.2) and (2.3) leads to

$$\int_0^{1/2} B_n(-x) dx = \left(\frac{-1}{2}\right)^n \left(\frac{1 - 2^{n+1}}{n + 1} B_{n+1} + 1\right) \quad (n = 1, 2, \dots). \tag{2.4}$$

The next two identities can be found in Gould [4, (1.13), (3.49)]:

$$\sum_{\nu=0}^{m+1} (-1)^\nu \binom{m+1}{\nu} \nu^p = 0 \quad (0 \leq p \leq m), \tag{2.5}$$

$$\sum_{\nu=0}^k (-1)^\nu \binom{k}{\nu} \binom{x-\nu}{r} = \binom{x-k}{r-k} \quad (k = 0, 1, \dots). \tag{2.6}$$

Applying the binomial theorem gives

$$\sum_{\nu=0}^r (\nu + s) \binom{r}{\nu} t^\nu = (t + 1)^{r-1} ((r + s)t + s) \quad (r = 0, 1, \dots). \tag{2.7}$$

II. We show that the identities (1.2) and (1.3) are equivalent. Let

$$T(m, n; z) = \sum_{\nu=0}^{m+1} a_\nu(m, n; z) \quad \text{and} \quad T^*(m, n; z) = \sum_{\nu=0}^m a_\nu(m, n; z) \tag{2.8}$$

with

$$a_\nu(m, n; z) = (-1)^m (\nu + n + 1) \binom{m+1}{\nu} B_{\nu+n}(z).$$

Using (2.2) gives

$$\begin{aligned} T(m, n; z) + T(n, m; -z) &= T^*(m, n; z) + a_{m+1}(m, n; z) + T^*(n, m; -z) \\ &\quad + a_{n+1}(n, m; -z) \end{aligned}$$

$$= T^*(m, n; z) + T^*(n, m; -z) - (-1)^m(m + n + 1)(m + n + 2)z^{m+n}.$$

This implies that (1.2) and (1.3) are equivalent.

III. Now, we prove the theorems and corollaries stated in Sect. 1.

Proof of Theorem 1. Using (2.8), (2.2), (2.1) with $x = -z$, $y = 1$ and the elementary formula

$$(r + 1) \binom{r}{j} = (j + 1) \binom{r + 1}{j + 1}$$

with $r = \nu + n$ gives

$$\begin{aligned} T(m, n; z) &= (-1)^{m+n} \sum_{\nu=0}^{m+1} (-1)^\nu (\nu + n + 1) \binom{m + 1}{\nu} B_{\nu+n}(1 - z) \\ &= (-1)^{m+n} \sum_{\nu=0}^{m+1} (-1)^\nu (\nu + n + 1) \binom{m + 1}{\nu} \sum_{j=0}^{\nu+n} \binom{\nu + n}{j} B_j(-z) \\ &= (-1)^{m+n} \sum_{\nu=0}^{m+1} (-1)^\nu \binom{m + 1}{\nu} \sum_{j=0}^{\nu+n} (j + 1) \binom{\nu + n + 1}{j + 1} B_j(-z) \\ &= (-1)^{m+n} \sum_{j=0}^{m+n+1} (j + 1) B_j(-z) \sum_{\nu=0}^{m+1} (-1)^\nu \binom{m + 1}{\nu} \binom{\nu + n + 1}{j + 1}. \end{aligned}$$

Applying (2.5) we conclude that the inner sum is equal to zero, if $0 \leq j \leq m - 1$. Thus

$$\begin{aligned} T(m, n; z) &= (-1)^{m+n} \sum_{j=m}^{m+n+1} (j + 1) B_j(-z) \sum_{\nu=0}^{m+1} (-1)^\nu \binom{m + 1}{\nu} \binom{\nu + n + 1}{j + 1} \\ &= (-1)^{m+n} \sum_{j=0}^{n+1} (j + m + 1) B_{j+m}(-z) \sum_{\nu=0}^{m+1} (-1)^\nu \binom{m + 1}{\nu} \binom{\nu + n + 1}{j + m + 1}. \end{aligned} \tag{2.9}$$

Using (2.6) with $k = m + 1$, $r = j + m + 1$, $x = m + n + 2$ we get

$$\begin{aligned} \sum_{\nu=0}^{m+1} (-1)^\nu \binom{m + 1}{\nu} \binom{\nu + n + 1}{j + m + 1} &= (-1)^{m+1} \sum_{\nu=0}^{m+1} (-1)^\nu \binom{m + 1}{\nu} \binom{m + n + 2 - \nu}{j + m + 1} \\ &= (-1)^{m+1} \binom{n + 1}{j}. \end{aligned} \tag{2.10}$$

From (2.9) and (2.10) we obtain

$$T(m, n; z) = (-1)^{n+1} \sum_{j=0}^{n+1} (j + m + 1) \binom{n + 1}{j} B_{j+m}(-z) = -T(n, m; -z).$$

This settles (1.3). □

Proof of Theorem 2. Using (2.1) gives

$$\begin{aligned}
 & (-1)^m \sum_{\nu=0}^m (\nu + n + 1) \binom{m+1}{\nu} B_{\nu+n}(x+z) \\
 &= (-1)^m \sum_{\nu=0}^m (\nu + n + 1) \binom{m+1}{\nu} \sum_{k=0}^{\infty} \binom{\nu+n}{k} B_{\nu+n-k}(z) x^k \\
 &= (-1)^m \sum_{k=0}^{\infty} \sum_{\nu=0}^m (\nu + n + 1) \binom{m+1}{\nu} \binom{\nu+n}{k} B_{\nu+n-k}(z) x^k.
 \end{aligned} \tag{2.11}$$

Next, we exchange m and n and we replace x and z by $-x$ and $-z$, respectively. Then we obtain from (2.11):

$$\begin{aligned}
 & (-1)^n \sum_{\nu=0}^n (\nu + m + 1) \binom{n+1}{\nu} B_{\nu+m}(-(x+z)) \\
 &= (-1)^n \sum_{k=0}^{\infty} \sum_{\nu=0}^n (\nu + m + 1) \binom{n+1}{\nu} \binom{\nu+m}{k} B_{\nu+m-k}(-z) (-1)^k x^k.
 \end{aligned} \tag{2.12}$$

Moreover, we have

$$\begin{aligned}
 & (-1)^m (m+n+1)(m+n+2)(x+z)^{m+n} \\
 &= (-1)^m (m+n+1)(m+m+2) \sum_{k=0}^{\infty} \binom{m+n}{k} z^{m+n-k} x^k.
 \end{aligned} \tag{2.13}$$

We apply (1.2) with $x+z$ instead of z and (2.11), (2.12), (2.13). A comparison of the coefficients yields

$$\begin{aligned}
 & (-1)^m \sum_{\nu=0}^m (\nu + n + 1) \binom{m+1}{\nu} \binom{\nu+n}{k} B_{\nu+n-k}(z) \\
 &+ (-1)^{k+n} \sum_{\nu=0}^n (\nu + m + 1) \binom{n+1}{\nu} \binom{\nu+m}{k} B_{\nu+m-k}(-z) \\
 &= (-1)^m (m+n+1)(m+n+2) \binom{m+n}{k} z^{m+n-k},
 \end{aligned}$$

as claimed. □

Proof of Corollary 2. We define

$$C(m, n; k) = \sum_{\nu=0}^m (-1)^\nu (\nu + n + 1)(\nu + n - k) \binom{m+1}{\nu} \binom{\nu+n}{k}$$

and

$$D(m, n; k) = \sum_{\nu=0}^m (-1)^\nu \binom{m+1}{\nu} \binom{\nu+n+1}{k}.$$

Then

$$C(m, n; k) = (k+1)(k+2)D(m, n; k+2).$$

Using

$$B_n(1) = (-1)^n B_n \quad \text{and} \quad B_n(-1) = B_n + (-1)^n n \quad (n = 0, 1, \dots)$$

gives

$$\begin{aligned} S(m, n; k; 1) &= (-1)^m \sum_{\nu=0}^m (\nu+n+1) \binom{m+1}{\nu} \binom{\nu+n}{k} B_{\nu+n-k}(1) \\ &= (-1)^{m+n+k} A(m, n; k) \end{aligned} \tag{2.14}$$

and

$$\begin{aligned} S(n, m; k; -1) &= (-1)^n \sum_{\nu=0}^n (\nu+m+1) \binom{n+1}{\nu} \binom{\nu+m}{k} B_{\nu+m-k}(-1) \\ &= S^*(n, m; k) + (-1)^{m+n+k} C(n, m; k). \end{aligned} \tag{2.15}$$

We apply Theorem 2 with $z = 1$ and (2.14), (2.15). This yields

$$\begin{aligned} &(-1)^{m+k} (m+n+1)(m+n+2) \binom{m+n}{k} \\ &= (-1)^k S(m, n; k; 1) + S(n, m; k; -1) \\ &= (-1)^{m+n} A(m, n; k) + S^*(n, m; k) + (-1)^{m+n+k} C(n, m; k). \end{aligned} \tag{2.16}$$

Next, we exchange m and n , multiply by $(-1)^{k+1}$, and use (1.5). Then

$$\begin{aligned} &(-1)^{n+1} (m+n+1)(m+n+2) \binom{m+n}{k} \\ &= (-1)^{m+n+k+1} A(n, m; k) + (-1)^{k+1} S^*(m, n; k) \\ &\quad + (-1)^{m+n+1} C(m, n; k) \\ &= (-1)^{m+n+k+1} A(n, m; k) + S^*(n, m; k) + (-1)^{m+n+1} C(m, n; k). \end{aligned} \tag{2.17}$$

From (2.16) and (2.17) we obtain

$$A(m, n; k) + (-1)^k A(n, m; k) = F(m, n; k) \tag{2.18}$$

with

$$\begin{aligned} F(m, n; k) &= ((-1)^{n+k} + (-1)^m) (m+n+1)(m+n+2) \binom{m+n}{k} \\ &\quad - (-1)^k C(n, m; k) - C(m, n; k) \end{aligned}$$

$$\begin{aligned}
 &= (-1)^k(k+1)(k+2) \left[(-1)^n \binom{m+n+2}{k+2} - D(n, m; k+2) \right] \\
 &+ (k+1)(k+2) \left[(-1)^m \binom{m+n+2}{k+2} - D(m, n; k+2) \right].
 \end{aligned}
 \tag{2.19}$$

If $0 \leq p \leq m$, then we conclude from (2.5) that

$$\begin{aligned}
 D(m, n; p) &= \sum_{\nu=0}^{m+1} (-1)^\nu \binom{m+1}{\nu} \binom{\nu+n+1}{p} + (-1)^m \binom{m+n+2}{p} \\
 &= (-1)^m \binom{m+n+2}{p}.
 \end{aligned}$$

Since $k+2 \leq \min(m, n)$, we obtain from (2.19) that $F(m, n; k) = 0$, so that (2.18) implies (1.6). □

Proof of Corollary 3. We present two proofs.

First proof. A short calculation gives that (1.7) holds for $k = 0$ and $k = 1$. Moreover, since

$$\begin{aligned}
 (-1)^{n+k} P(n, 0; k; -z-1) &= (-1)^{n+k} \sum_{\nu=0}^n \binom{\nu}{k} \binom{n}{\nu} (-z-1)^{\nu-k} \\
 &= (-1)^{n+k} \binom{n}{k} \sum_{\nu=0}^n \binom{n-k}{\nu-k} (-z-1)^{\nu-k} \\
 &= \binom{n}{k} z^{n-k} = P(0, n; k; z),
 \end{aligned}$$

we conclude that (1.7) is valid for $m = 0$ and $n = 0$. Let $m \geq 1, n \geq 1, k \geq 2$. Using (2.2) gives

$$\begin{aligned}
 &S(m-1, n-1; k-2; z+1) - S(m-1, n-1; k-2; z) \\
 &= (-1)^{m-1} \sum_{\nu=0}^{m-1} (\nu+n) \binom{m}{\nu} \binom{\nu+n-1}{k-2} (B_{\nu+n+1-k}(z+1) - B_{\nu+n+1-k}(z)) \\
 &= (-1)^{m-1} \sum_{\nu=0}^{m-1} (\nu+n) \binom{m}{\nu} \binom{\nu+n-1}{k-2} (\nu+n+1-k) z^{\nu+n-k} \\
 &= (k-1)k(-1)^{m-1} \sum_{\nu=0}^{m-1} \binom{m}{\nu} \binom{\nu+n}{k} z^{\nu+n-k} \\
 &= (k-1)k \left[(-1)^{m-1} P(m, n; k; z) - (-1)^{m-1} \binom{m+n}{k} z^{m+n-k} \right]
 \end{aligned}
 \tag{2.20}$$

and

$$\begin{aligned}
 & (-1)^k(S(n-1, m-1; k-2; -z-1) - S(n-1, m-1; k-2; -z)) \\
 &= (-1)^{k+n} \sum_{\nu=0}^{n-1} (\nu+m) \binom{n}{\nu} \binom{\nu+m-1}{k-2} (B_{\nu+m+1-k}(-z) - B_{\nu+m+1-k}(-z-1)) \\
 &= (-1)^{m+n} \sum_{\nu=0}^{n-1} (-1)^\nu (\nu+m)(\nu+m+1-k) \binom{\nu+m-1}{k-2} \binom{n}{\nu} (z+1)^{\nu+m-k} \\
 &= (k-1)k(-1)^{m+n} \sum_{\nu=0}^{n-1} (-1)^\nu \binom{\nu+m}{k} \binom{n}{\nu} (z+1)^{\nu+m-k} \\
 &= (k-1)k \left[(-1)^{n+k} P(n, m; k; -z-1) + (-1)^{m-1} \binom{m+n}{k} (z+1)^{m+n-k} \right].
 \end{aligned} \tag{2.21}$$

From Theorem 2 we obtain

$$\begin{aligned}
 & S(m-1, n-1; k-2; z+1) - S(m-1, n-1; k-2; z) \\
 &+ (-1)^k S(n-1, m-1; k-2; -z-1) - (-1)^k S(n-1, m-1; k-2; -z) \\
 &= (-1)^{m+1} (m+n-1)(m+n) \binom{m+n-2}{k-2} ((z+1)^{m+n-k} - z^{m+n-k}) \\
 &= (k-1)k(-1)^{m-1} \binom{m+n}{k} ((z+1)^{m+n-k} - z^{m+n-k}).
 \end{aligned} \tag{2.22}$$

Combining (2.20), (2.21) and (2.22) leads to (1.7). □

Second proof. We have

$$\begin{aligned}
 P(m, n; k; z) &= \sum_{\nu=0}^m \binom{m}{\nu} \binom{\nu+n}{k} z^{\nu+n-k} = \frac{1}{k!} \sum_{\nu=0}^m \binom{m}{\nu} (z^{\nu+n})^{(k)} \\
 &= \frac{1}{k!} (z^n (z+1)^m)^{(k)}
 \end{aligned}$$

and

$$\begin{aligned}
 (-1)^{m+n+k} P(n, m; k; -z-1) &= \sum_{\nu=0}^n (-1)^{n-\nu} \binom{n}{\nu} \binom{\nu+m}{k} (z+1)^{\nu+m-k} \\
 &= \frac{1}{k!} \sum_{\nu=0}^n (-1)^{n-\nu} \binom{n}{\nu} ((z+1)^{\nu+m})^{(k)} \\
 &= \frac{1}{k!} (z^n (z+1)^m)^{(k)}.
 \end{aligned}$$

□

Proof of Corollary 4. We assume that $m > n \geq 0$. Since, for $m \geq 1$,

$$\sum_{\nu=0}^m \binom{m}{\nu} (2^{-\nu} - 1) B_\nu = 2^{-m} B_m(2) - B_m(1) = (-1)^m (2^{-m} - 1) B_m + m 2^{-m},$$

we conclude that (1.9) holds for $n = 0$. Next, let $m > n \geq 1$. Using (2.3) gives

$$\begin{aligned} & \frac{1}{2} \int_0^{1/2} (-1)^{m-1} \sum_{\nu=0}^m (\nu + n) \binom{m}{\nu} B_{\nu+n-1}(z) dz \\ &= (-1)^{m-1} \sum_{\nu=0}^m \binom{m}{\nu} (2^{-\nu-n} - 1) B_{\nu+n} \end{aligned} \tag{2.23}$$

and from (2.4) and (2.7) with $r = n$, $s = m$, $t = -1/2$ we get

$$\begin{aligned} & \frac{1}{2} \int_0^{1/2} (-1)^n \sum_{\nu=0}^n (\nu + m) \binom{n}{\nu} B_{\nu+m-1}(-z) dz \\ &= \frac{(-1)^n}{2} \sum_{\nu=0}^n \binom{n}{\nu} \left(-\frac{1}{2}\right)^{\nu+m-1} [(1 - 2^{\nu+m}) B_{\nu+m} + \nu + m] \\ &= (-1)^{m+n-1} \left[\sum_{\nu=0}^n (-1)^\nu \binom{n}{\nu} (2^{-\nu-m} - 1) B_{\nu+m} + \frac{m-n}{2^{m+n}} \right]. \end{aligned} \tag{2.24}$$

Applying (1.3), (2.23), (2.24) and

$$\sum_{\nu=0}^n (-1)^\nu \binom{n}{\nu} (2^{-\nu-m} - 1) B_{\nu+m} = (-1)^m \sum_{\nu=0}^n \binom{n}{\nu} (2^{-\nu-m} - 1) B_{\nu+m}$$

we obtain (1.9). □

Funding The authors have not disclosed any funding.

Data Availability This manuscript has no associated data.

Declarations

Conflict of interest The authors declare that they have no conflict of interest.

References

- [1] Abramowitz, M., Stegun, I.A.: Handbook of mathematical functions with formulas, graphs, and mathematical tables. Dover, New York (1964)
- [2] Chen, W.Y.C., Sun, L.H.: Extended Zeilberger’s algorithm for identities on Bernoulli and Euler polynomials. *J. Number Th.* **129**, 2111–2132 (2009)
- [3] Gessel, I.M.: Applications of the classical umbral calculus. *Algebra Univ.* **49**, 397–434 (2003)
- [4] Gould, H.W.: Combinatorial identities: a standardized set of tables listing 500 binomial coefficient summations. Morgantown (1972)
- [5] Kaneko, M.: A recurrence formula for the Bernoulli numbers. *Proc. Japan Acad. Ser. A Math. Sci.* **71**, 192–193 (1995)

- [6] Moll, V.H., Vignat, C.: Integrals involving Bernoulli and Euler polynomials. *Sci. Ser. A Math. Sci.* **30**, 55–78 (2020)
- [7] Momiyama, H.: A new recurrence formula for Bernoulli numbers. *Fibonacci Quart.* **39**, 285–288 (2001)
- [8] von Eттingshausen, A.: Vorlesungen über die höhere Mathematik, 1. Band. Carl Gerold, Wien (1827)
- [9] Wu, K.-J., Sun, Z.-W., Pan, H.: Some identities for Bernoulli and Euler polynomials. *Fibonacci Quart.* **42**, 295–299 (2004)

Ulrich Abel

Technische Hochschule Mittelhessen-University of Applied Sciences

Fachbereich MND

Wilhelm-Leuschner-Straße 13

61169 Friedberg

Germany

e-mail: ulrich.abel@mnd.thm.de

Horst Alzer

Waldbröl

Germany

e-mail: h.alzer@gmx.de

Received: May 8, 2024.

Accepted: August 19, 2024.

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.

Springer Nature or its licensor (e.g. a society or other partner) holds exclusive rights to this article under a publishing agreement with the author(s) or other rightsholder(s); author self-archiving of the accepted manuscript version of this article is solely governed by the terms of such publishing agreement and applicable law.